% 31. M&M’s. The Masterfoods company says that before the
introduction of purple, yellow candies made up 20% of
their plain M&M's, red another 20%, and orange, blue,
and green each made up 10%. The rest were brown.

b) If you plck three M&M'’s in a row, what is the proba-
bility that ‘
1) tthyey are all brown? * (BRow NB é@ “ ) ( 5\
2) the third one is the first one that'sred? =
3) none are yellow? P( peong 'y I..U-‘a 2
4) at least one is green?
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X 16. Another hand. You pick three cards at random from 2
deck. Find the probability of each event described below-
a) You getno aces.

b) You get all hearts.

c) The third card is your first red card.

d) You have at least one diamond.
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lg’. Shirts. The soccer team’s shirts have arrived in a big
box, and people just start grabbing them, looking for the
right size. The box contains 4 medium, 10 large, and
6 extra-large shirts. You want a medium for you and

* Find the probability of each event

one Tof your sister.

described.

a) The first two you grab are the wrong sizes.

b) The first medium shirt you find is the third one
you check.

¢) The first four shirts you pick are all extra-large.

d) At least-one of the first four shirts you check is a
meditum.
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% 19 Eligibility. A university requires its biology majors to o e P
take.a course called BioResearch. The prerequisite for this ) -
mght%mmusthavehhmeithera%ﬁsﬁcs
;g};me ora computer course. By the time they are juniors,
o of the Biology majors have taken Statistics, 23% have
h;‘id a computer course, and 7% have done both, v
a) What percentof the junior Biology tajors are inelioi
ble for BioResearCli?J o-gy T reinelig
b) thsa;;zs thtzlfrobabﬂity that a junior Biology major
who en Statisti '
o cs has also taken a computer
€) Are taking these two courses disjoint i
i ts? Explain. ——mE—
d) Are taking these two courses i dent ever
ity es independent events?

@/I ?(EMEQGIGLE\Z?C”E‘T‘* eed = @ -
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Pllomevticy = P(lomprtee | STwT) P (smaT) = *(orav | Comeinie)

023 F .13 SE 52 F s =.30
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nsafe food. Early in 2007 Consumer Reports published
the results of an extensive investigation of broiler chick- -
ens purchased from food stores in 23 states. Tests for bac- :
teria in the meat showed that 81% of the chickens were
contaminated with campylobacter, 15% with salmonella,
and 13% with both. :
a) What's the probability that a tested chicken was not 4 T ' o s

contaminated with either kind of bacteria? : R . L

b) Are contamination with the two kinds of bacteria dis- I -

joing? Explain, .
) Are contamination with the two kinds of bacteria in-

dependent? Explain.
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’<Cr4T5 Dogs Tomi
A& 24. Pets again. The local animal shelter — > re

, 33| 5%
ported that it currently has 24 dogs and 18 cats available M 8 l I ’i
for adoption; 8 of the dogs and 6 of the cats are male. Are -
the species and sex of the animals independent? Explain. F ol :2 b L_LQ__\-
(Ti® mavs ATReLE)

(T me , 4%mtf_l§i_j94 12 |
}fIN NEPENQENT ’ ‘ \ 4

@ e AHF_HELE_ D?UL) @ PCCRTQ = P({C/ﬁTS\MALEB
r

\/5 oF FemaLts JYALS 4 D= 4P

s oF Does MaLE w 18] 42

¥ 28. Politics. Given the table of probabilities

are party affiliation and position on the death penalty
mdependent? Explam.
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* @ Phone service. According to estimates from the federal | '
government’s 2003 National Health Interview Survey, N
based on face-to-face interviews in 16,677 households, ' \G\“
approxunately 58.2% of U.S. adults have both a landline B Lo 7
in their residence and a cell phone, 2.8% have only cell ' 2
phone service but no landline, and 1.6% have no tele- ' |
phone service at all. T
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# Montana. A 1992 poll conducted by the University of
Montana classified respondents by sex and political party,

as shown in the table. Is party affiliation independent of
the respondents’ sex? Explain. N 0T INDE PenoenNT
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*) 34| Graduation. A private college report contains these

2 £
S I

% E

statistics: . .
: . 5, THECE 1S ELuinenCl
70% of incoming freshmen attended public schools. : f 29 ! e
75% of public school students who enroll as freshmen eventu- qia— TN Pg OF Scroeol
ally graduate # frdr ke
. ‘ ; . -
90% of other freshmen eventually graduate. o AND GrADuATIon RAZE NOL
a) Is there any evidence that a freshman’s chances to . 05,0 SEANT EOTREY Lot
graduate may depend upon what kind of high school NG FLgaBEALE; ] '
the student attended? Explain. IND € PEANDES JT ThHEA GAKOU
b) What percent of freshmen eventually graduate? 5 . o
RATES (QddLd BE TH & Sw/

L PCGsmocart\ = 53.5% +21%

= (19.57 POT 75‘/‘, GR A YW ATEAD rRATE A
e PoLLic CuomPrAerb TO GrR AODVATYS
BaTE OF Q7 AT PEILATT
(A _Cozate o Teee.
e -
AESHMAR
\7 J@«—" (-2 pou ATED 535 7, ( }>(. ?3)
Pusuic . )
°/IO \% DIDNoT GAAD 1752 (a?)(”23_)
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3o Priwvate %ﬁvr&m s> 277 (39)(
fo Vo No Gend 37 ( ’))( '3
9 36. Graduation, part IX. What percent of students who
graduate from the college in Exercise 34 attended a public
high school?
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‘ i:;) Lu e. Leah is flying from Boston to Denver-with a . B | e
cofng:c%ion in Chicago. The probability her first flight NOT InN DPEPEND End | =

Jeaves on time is 0.15. If the flight is on time, the pro!:)abil—
ity that her luggage will make the connecting flight in
Chicago is 0.95, but if the first flight is delayed, the proba-
bility that the luggage will make it is only 0.65.
a) Are the first flight leaving on time and the luggage
making the connection independent events? Explam. e
b) What is the probability that her luggage arrives in  LupL ACE MO

NN%(T‘ar—\
Denver with her? o 5. 25%
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N
@ ?(LU(,LHGE Agrivgs 1n) }éNu&Q} =

.28 + 55,257, = @

35.

Late luggage. Remember Leah (Exercisé 33)? Suppose
you pick her up at the Denver airport, and her luggage is

not there. What is the probability that Leah's first flight

TLE. probohi Ly 15 A8
©§ dhe Fligwt 'S
on T M E/] a0 ON LY
cbS TH ’|.—,L s NOUT

oN Time.,

was delayed?
P (LATE M) Massine Loceac &)
P( LAVE l MISSING LDC(:AL‘—E\) = ?( MLSSIAL L\JC-&“’C”-‘\)
24.75
IS + 2975

= 9015
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